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1. Draw the major product from each ihe following reaction. Clearly number them and indicate
the stereochemistry if necessary (40 pt)
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2. Propose a synthetic strategy for the target compound from the provided starting material. (10 pt)
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4. Which reactant in the following pair (A or B) will undergo an elimination reaction more

rapidly? Explain your choice. (10 pt) (hint: draw the most stable form of A and B first)
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5. The following reactions undergo at different types of conditions. What is the structure for A?

7.

What is the structure for B? Indicate their stereochemistry and explain the results based on the
molecular orbital symmetry. (10 pt)
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The following 'H NMR spectra is for a compound with chemical formula C¢H;,0,. Identify this
compound, indicate the chemical shifts, and explain your answer. (included multiplicities) (10

pY)

a.
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The following IR and mass spectra are for a compound with chemical formula C¢Hj20. What is
its structure? Explain the fragments of 43 and 58. (10 pt)
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